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o3gb30m0 Jo®m3mgdmergdo

“a@130 Bbd300L” Fo®dmgdmaol gsdmmges oM h dBoxDg Lbgsmdgdol gsdmynbgdom:

f(x) ~ -

flx+h) — f(;r).

G900l ,B5dmFM0w0” 3)30M030:
2

h
flo+h) = f(x) +hf (@) + 5 '), €€ (@a+h),

_ flz+h)—f(=)

h r
(3]

f'(x) € (xz,z+h).

»0903bgbs" o ,50X3965“ FoMTIMgdmEgdo:
f(z) — flz —h)
fi(z) :

h
(39D GO0 Fo®dmgdmwo (L+R)/2 :

flx+h)— f(x—h)
2h '

P
e

f(x) ~

™

A\ backward-difference

f(x)

central-difference

forward-difference
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X+Ax
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395GHMS M0 [oMImgdeol gmMIMeols 3mdogds:

! ;12 I hs I
fle+h) = flz)+hf(z)+ ?f (z) + Ef (&1).

! hg L }13 Ll
fla—h) = f@)—hf'@)+ 51" @) - ().

& € (z,z+h)

& € (x— h, ).
' f(I + h) o f(I o h) h'g " 1l
() = - - U@ + £(E)
£7(€) = S17"(€) + I (E))

€ (x—h,z+h)

LOOMEPMM:

s _f(I—i_h)_f(I_h) hg 1ot
(@) = - 1)

30629¢0 H0g ol 3969 3¢ G0 [3609829¢r0l eaBdol 3omIocrgdol Gogo: O(hz)
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d9gm6g HogoL 396EGHMIM©Oo Fomdmgdwo:

h?

r+h)—2f(x r—h
Lf,,(m)%f( h) 2 () + fla—h) }

! h’g 1" h3 Iy, hd (4)
flzxh)= f(z) £hf'(z)+ ?f (z) £ Ef (z) + ﬁf (£x).
r — r xr—n 2 ‘ 2 ;
et B =2 TEZD)  priay+ 7 (196€0) +79(60) = 1)+ 3579,

3O™I0Egds:

h? _
_ﬁf{ )(€), E€(xz—h,z+h).

d9029 Gog ol 396(9®s¢r160 [3s6:09829¢00b (3 f9tHocrosbo) aeédol omboengdols Hogo: O(hz)
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5 $90300560 gm®INms (Egblogro)
(5 point stencil)

5 39%BMdgo GadEowo: {x —2h,x — h,x,x+ h,x + 2h}.

{ o)~ —f(x+2h) +8f(x hfg;éﬂf(m—h) - f(z — 2h)

flexh) = f@) £hf@+ 0 @+ L 0w ronm). (@)

Fa+h) = fa =) =2k @)+ fO@ L o). (B,
flz£2h) = f(x) £2hf'(x) + 2R* f"(z) £ %ﬁf{"ﬂ (%) + Oax(h®).  (Bas)
(x4 2h) = f(z = 20) = 4hf() + S O ) + O(Y). (B,

podmgo3mmmor:  8xE; — E;
8f(x+ h) — 8f(x — h) — flx+ 2h) + f(z — 2h) = 12hf'(z) + O(h*)

5 Fatdoemosbo Fs@dmgBeierols gmeGd=emols goomdoegdols Gogo: O(h?)
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35000 Mool HoMdmgdmegdo (5 oM Eowosbo LEgblogro)

—flz+2h) + 16f(x + h) — 30f(x) + 16f(x — h) — f(z — 2h) \

fﬂ(I) ~

12k

flx +2h) = 2f(x + 1) + 2f(x — h) — f(z —2h)

() ~

2h3

f(@ +2h) — 4f (e + h) + 6f (2) — 4 (x — h) + f(x — 2h)

() ~

\

hi

/

M0 336050l Bbg30s

/

-

folz,y) =

fy(Is y) ~

f(.’l:—l—h,y)—f(.’lﬁ—h,y)

2h

f(I,y—l—k)—f(I,y—k)

2k

J
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dgmeg Mool Homdmgdmemo:
4 N
h,y) — 2 : — h.
fm(g;_‘y)ﬁf(ﬂr Y) fg;.y)—l—f(:t )
. k) —2f(x, -k
fo(zy) ~ LTV TR f(;. y) + flz,y — k)
N Y

MO0 (3350L 3bd300L FgMgmeo Homdmgdmeo:

hoy+ k) — hoy—k)— fle —hy+k —hoy—k
fmy(:r,y)ﬁf(x+ Y+ k)—flx+hy )4hkf(:t y+k)+ flz—hy )_

SbmbLo:

‘dﬁ\ Fo63madol 4o8mlsmgegmo N ool LobMLEOL oLZOYEMEOo MMM oEsb (N+1) Hogol
) § LoBMLEHOL ZMOTNOL FoYds: MORIOELMBOL GJUEHMISMWS(300 >>>> egd0s 14.
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13bd300L OLIMYEHIO [oMTMOOl SBEMIDI M3EH0TsMO dox ol dgMbgzo:

QOO dOYO: N ©0g0l ©olg9Eeo gm@dMwol gomdowads M*O(hN1);
M -30% 900l MoMm©gbmody;

3ot doxo: 0oL 3M9GH™ME0 M39M530930L (00x%JdOL) MoMmEIbMBdOL BMHPS WS WITIMYZSEgdOl
3MdogdobL (truncation error) oM™M39ds.

3350l G030 (859, floating point) S IMY35¢gd0L (3E0MT0EGdS:
- Single precision (32bit);
- Double precision (64 bit);

80608510 X537960 3MB0Yds: M3H0d5wwyMo doyxo N.

4
B 4.1 10 useless accuracy
Q535¢JOS -
10°
sin(x) @ubJgool dsgoomdg (0,2*pi) o0bGgMzsewdo .
290359 Mm3G0dom)OHo  olgMgGHmeo  doxob 10
395G mEmo  FomdmgdIols MM MEolsmzol.  soggo; 108

3O™I0EgdoL sdM30IOMEgds EOLIMGEHODIEOOL dox DY
(565@0BM0 5 MOEb3om F¥FMMZIBL FmOOL LbgosMds, 0b. 1912
LYYODO.)

1018
10-16 10712 1078 10~4 109
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535¢ngds 4.2.

25900mM35¢9m FoMdmgdwgd0 53w969300LsmgoL f(x) = sin?(1.2x) + cos?(0.8x) dd1dwgs 0b9935¢»d0:
x = (0:0.1:20);

fl_an(x) =d/dxf(x) : 56500 (omdmgdme0o;

f1_Jefi(x) =dldxf(x) : oEb300m0 Fo6MHMmgdmeo: Jot3bgbs BmGmIms;

f1_right(x) = d/dx f(x) - (oEb30m0 Ho6M3Mmgdmwo: Js6x39bs BmEOTM;

f1_center(x) = d/dx f(x) : 6HoEbz0m0 §560HIMGdMwo: 396G §o6MHTMgdol gm®mImens;
f1_5(x) = d/dx f(x) : HoEb30m0 Ho6MdMmgdmwo: 5 96O Eowosbo gm®mImes;

f2_an(x) = d¥dx*f(x) : d9mMg Mool 565coBMEOo Foedmgdmero;

f2_center(x) = d?/dx*f(x) : 99mO9 Gogol Mogbgzomo Fo®dmgdweo: 396EHOSWMOHO BMEOIMES;
f2_5(x) = d¥/dx*f(x) : 99mO9 ozl Mogbgzomo Fo®dmadwyeo: 5 O E0wosbo gm®dmes;
Q3bsBYm 9O 3M55303bY:

1. (f1 an-fl left)
2. (f1 an-f1l right)
3. (fl an-fl center)
4. (f1 an-f1 5)

Q3bsBYm 9O 3M55303DY:
1. (£2 an-fl left)
2. (fZ an-fl center)
3. (f2 _an-fl1 5)
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LEBHMIULGHMOO 39dBHMMO (3B 3gL0)

“30696M0L 3Om39L0”

»3C7130 “ B9b930900L H0zb30000 [36:00989cols
300b503¢79e»0 06980 EOlZOIAI 3I9OPPI8Tg
50 99352896 bHmsb w160 39992980b3503300.

d99mbgg30m0 MHobggdo [-1,1] 0bEgMzserdo:

E11£2'.-=“

090mb3. ®oEbggdoLogsb ga9gboco LGmdsbEmo 39d@m®o
1 3
Wt =— Y &, telo
n(t) N . 0, 1]

1<k<|nt|
»JombmMo 3930L50OL BMB309d0L K50

n — 00 306960l 3OmEgbo Wy

130H036M0 F5250000: IMIM5MOS MO gobBmBoggdsdo
306960l 3O 39L00 IMEgI X-Y 45085 R0MgO00):
dOMMBOL IndGomds BN

] [UR] 1

-40

-20

20
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306960l 3Mm3gLlol 30L9dgd0

306960l 36 39LOL 5ed5MMBOL gobsfiowgdol ggmbjaos:

1 2 20l

E_mﬂ_t.
v 2t

fwi(z) =

.

g gk
-
o
i
-
-

30696M0bL 3Om39L0L 063 M owo:

W = | W (s)ds

3069600 LEMILEBHOO 39JBHMMO FMMog 3f30039000:

sin it

Wy = &ﬂt‘i‘\ﬁi&:

=1 Tt

QO0xIMOB(305 OO gobEmegds:
dX;
dt

= a(X,)

30330 53BsbLBO M930 Lafyolo 360369 @dS Xo Jomlryos: LEBMmsLEHIGo 3GmEgLo.
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oGmU (Ito) bEmgsbGm®mo 3sen3menmio

I"ij — {-{{ijdt + C(Xt)dBf

“OIRNONO” 3OMEILO \—j /L/ LUA™JOLEGHMOH0 3B 39L0

a(X) - @@gogol gobizos
c(X) — @ogrbools abzos

399dmbgz93000 36MMEqLoL HoMdmgdwo 893mbzgzomo Loogs (stochastic self-similar process).
d9L5dgdgE0s IbmEm (LEMILEGIOO) 0bE MOl dsdmmges(!)

t t
X;=Xo+ / a(Xs)ds + [ ¢(X)dBs

o0 o 0

L3 0GML LEMJLEHMOO 0bEgyMswo:
t
I, = / c(Xs)dBs
0

53mboblbOL ,,M93MW O™ O ,,JombEOo” Bsfows yogmass:

Xt =Xt + |
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0@ bLEAMJOLEGHMOMHO ORIMI6EOIWO:

0@Mb n9ds: T

BEH™JLEHMIO0 360 3950L oggM9bEoswo (dYt):

of . 9f '_Eé‘z_f / af
4= (af e M2 o 2)‘ﬂ+' fax'dB‘

535¢3)g00mo {j936M900:
1. 3350M5¢ o (93¢0
2. ©ob3gmlovywo bsfowo;

LEA™JoLEHMO0 39dBHMOIOOL bsFMS3Ol OTRIMB30WO:
d(X:Y:) = XodY; + Yid X, —|—':dX£d]/}:'

~ -
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306960l olzMgE o 3Gmaglol ImgEogds

96O»3569000L56 M) 30009090 F9dnb3930000 MHOEb3xd0L 39dBHMGMO: (Z1, Z2, ... Zn)

" Wo=0 )
W1 = W + Z3 (t1-to) 12
W, = Wy + Z; (to-tg)*?

\.N.+ = Wi + Zx (tke1 - t 172
W k + Zk (tk1 - t)

09000b393000 360390, OMTGE0E 03000905 dDOMMBOL 3MM(39LOLS3ID MMEILSE 1 — co.

3535¢0m0:
»30099GG0o dOMMBoL dmdmsmds*:  a(X) = aX, c(X) = bX, a,c = constant.

320000 UH0sUH100 3999200 ¢rmg5:00Fwcmo o9bgzos:  f(X)= log(X)
dXt = ﬂ-Xtdt + bXﬁdBf,

3

; 1
dlog X, = idXt +1 (— : ) (dX,)? logX;=log Xo+ ({1 — 562) t 4+ bB;

X, AP E:
X, 1., o
= X, — §b dt Xt _ X[jf{u—éb ;llt+bBl

= (aXt — %bz) dt + ad By
log(d60mbol IMIM>MdS)

df:(

af
ot + fit

af
3:1:+

ol P f

2 Ox?

)dt—i—m

af
o 4B
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535¢ngds 4.2
553907 306960 LEBMJoLEHIOO 39JGHMOO S PIBIBIM 3gMTgEHHOMEPO dOMYBOL FMIM>MOOL B9 ™MMH0gdO:
},; — }Ejeat—_ﬂﬂg

09900930 396M539@M9d0LIMZ0U:
1.) a=1, =0.1;
2.) a=0, p=0.1;
3.) a=0.5, B=0.5;
4.) a=0.1, B=1;



